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// Av
using
class

{

erage Program
System;
Average?2

static void Main ()

{
int total, studentNumder, gradeValue;
double average;

total =0 ; studentNumder = 0;
Console.Write ("Enter Integer Grade, -1 to Quit:");
gradeValue = Int32.Parse(Console.ReadLine()) ;

while (gradevalue != -1 )
{
total = total + gradeValue;
studentNumder = studentNumder + 1;

Console.Write ("Enter Intger Grade, -1 to Quit:");
gradeValue = Int32.Parse(Console.ReadLine()) ;

}

if (studentNumder != 0)

{
average =(double) total / studentNumder;
Console.WriteLine ( "\n Class average is {0}", average );
}
else
Console.WriteLine ( " No grade were entered ") ;
}// end Main method.

}// end average class
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average =(double) total / studentNumder;
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average =(double) total / studentNumder;
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using System;
class Analyze
{
static void Main ()
{
int pass = 0,
failure = 0,
student = 1,
result;

while (student <= 10)
{
Console.Write ( " Enter result (1 = pass, 2 = fail):");
result = Int32.Parse(Console.ReadLine()) ;

if ( result == 1)
pass = pass +1;
else
failure = failure +1;

student = student + 1;

}

Console.WriteLine() ;
Console.WriteLine ("Passed: "+ pass);
Console.WriteLine("Failed: " + failure);

} // End the main method
}// end Analyze class
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Console.WriteLine() ;
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a ++;
a --;
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using System;

class Increment
{
static void Main ()
{
int ¢ = 5;
Console.WriteLie (c );
Console.WriteLie (c ++ );
Console.WriteLie (c );
Console.WriteLie () ;
c =5 ;
Console.WriteLie (c );
Console.WriteLie (++c );
Console.WriteLie (c );
}
}
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++ passes;

passes ++;
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++ ( ++1);
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